8. Determine the pair-correlation function of a binomial point process, provided it exists.

(B
T Bilm v B)  Re® B8 ~ %(v Sa)
’r\(‘(\) ’-‘?. /\C?)) g /A(K\dx ch—% 16466
Y
ALGU ML - @(g*B
’ ne o 5
( = Z. . VLE'\) = i = ):
S ’
L
Ay - ! A (g owe) = 0 Nopandy o (o
g ® & . B

Loqoind / T 4.3 '
2, I\’)>1 d syovn Vv (Rp) - VC&S

v
P Ei:l ﬂ()(qu»')ﬂ(XZEgL) = MCM'A)QB\ V@)
X, ¥, & 0000 P

=> ?\LA(K,%B = an (- 1\ 4006(6) / \7(@\2\ X, @c—‘j’d
,’\(1)(7(‘ﬂ) . m _4

(‘/‘. - oV, 4 A
5 @ A () n o Previded ‘ )Z(a)?o
A_,{: Ac-:\)t )
Looa N gy [l Lyl 2 WLE(de) 21, T ldg)2a)
— =

degondend  2Vve€ W'LS

Lng to Sixed ndwlxr
0L Pelunts


JD
Tužka







